

Converting Fahrenheit to Celsius (E)

Estimate or convert the temperatures.

$88^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$33^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$96^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-29^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-8^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$69^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$85^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-58^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$88^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$55^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$85^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$5^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$86^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-41^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$28^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$19^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$5^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$62^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-68^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$74^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-7^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$72^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-36^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-82^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-7^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-81^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$65^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$98^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-42^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$29^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$